HSC 2002 - Mathematics
; i ; Band 4/5 - Sample 1
| Question 9
BOARD OF STUDIES

lllllllllllll

3) Yszlalx-) 9

N
@\5‘“ =
‘V/ LTy \TL}("

W) b-2 rf(a\, . L(C[a‘g?\ ’\"C(b\
e — =2

O

|

-/

5 [?L{@?m)—»@.ﬂ * Lep

[3-3%2s %%’711\} |

sho | &

= \Q/% uw»t‘/l’blﬂ




HSC 2002 - Mathematics
; ’ ; Band 4/5 - Sample 1
e ———

BOARD OF STUDIES

nnnnnnnnnnnnn

) SO0 A, <DO©/I og’\S\

A-., Sbczc)( |.og1§)”

}
|
\V4

Ay = S000(1-0%C)

A\a\—f}r?—,k[&(-? P "\' A)/QD

Sa o))

v—\ /

ﬁgooo(\ oﬂ§>(l 0% -{\

o085

£2T6428 -T)  (pas—edh cot)

&) N, =24
Wt =S

Uy 2 2(s]"

=80




	Quest: 
	 X: Question 9

	subject: HSC 2002 - Mathematics
	Band 4/5: Band 4/5
	sample:  -  Sample 1


